

# Shanghai Achieve-Tech Marketing Management Co., Ltd Quotation

TR机场店-Feishang-A5亚克力制作报价							Date: 2024-8-5			
ВР	Store Name	Product	Size(MM) L*W*H	Picture	Bill of Material	Quantity (unit)	Unit Price	Total Cost	Packaging	
Feishang	Guangzhou Domestic T1B	A5 Acrylic Stand- Standing	210*148*70mm	SERVICE SERVIC	Clear Acrylic	8	¥60.42	¥483.36	Folding box, protected by EVA inside	
		A5 Acrylic Stand-Flat	210*148*20mm	Sales and the sa	Clear Acrylic	2	¥52.47	¥104,94		
	Changsha Domestic T2	A5 Acrylic Stand- Standing	210*148*70mm	Section Sectio	Clear Acrylic	8	¥60.42	¥483.36	Folding box, protected by EVA inside	
		A5 Acrylic Stand-Flat	210*148*20mm	NAMES AS A STATE OF THE PARTY O	Clear Acrylic	2	¥52.47	¥104.94		
	Fuzhou Domestic T2 Shopping Complex	A5 Acrylic Stand- Standing	210*148*70mm	INCOME.	Clear Acrylic	8	¥60.42	¥483.36	Folding box, protected by EVA inside	
		A5 Acrylic Stand-Flat	210*148*20mm	NAMES IN COLUMN 1	Clear Acrylic	2	¥52.47	¥104.94		
	Total Cost	¥1,764.90								
	¥529.47									
		¥2,294.37								
Total Cost (including 13% tax)										

## katherine.xie@achieve-tech.com.cn

发件人: Zhuang, Veronia < Veronia\_Zhuang@hugoboss.com>

发送时间: 2024年8月5日星期一 17:07

**收件人:** katherine.xie@achieve-tech.com.cn

抄送: Wang, Summer; Li, Diane

主题: re: (BOSS) Re-fit VMP Order - Revised

Dear Katherine,

It's fine as long as it is same as Diane picture below. Thanks a lot.



### **VERONIA ZHUANG**

# ASSISTANT ACCOUNT MANAGER TRAVEL RETAIL

 Phone
 +86 2161 711 441

 Mobile
 +86 13928600514

 veronia
 zhuang@hugoboss.com

#### **HUGO BOSS China Retail Co. Ltd.**

15/F, Infinitus Tower Room 1501 - 1520, 15th Floor 168 Hubin Road Huang Pu District, 2000021 Shanghai

P.R., China

group.hugoboss.com

发件人: katherine.xie@achieve-tech.com.cn <katherine.xie@achieve-tech.com.cn>

发送时间: 2024年8月5日17:01

收件人: Zhuang, Veronia < Veronia\_Zhuang@hugoboss.com>

抄送: Wang, Summer < Summer\_Wang@hugoboss.com>; Li, Diane < Diane\_Li@hugoboss.com>

主题: 回复: (BOSS) Re-fit VMP Order - Revised

Dear Veronia.

The production will take about 1 week.

Please also confirm the order numbers for each store.

Thank you very much!

Katherine Xie

Key Account Manager

Email katherine.xie@achieve-tech.com.cn

Web. www.achieve-tech.com.cn

Floor 3 Building 3 Lane 391, East Yunling Road, Putuo District, Shanghai

发件人: Zhuang, Veronia < Veronia\_Zhuang@hugoboss.com >

发送时间: 2024年8月5日16:19

收件人: katherine.xie@achieve-tech.com.cn

抄送: Wang, Summer <Summer\_Wang@hugoboss.com>; Li, Diane <Diane\_Li@hugoboss.com>

主题: re: (BOSS) Re-fit VMP Order - Revised

Dear Katherine,

Sorry to jump in.

Well received for your quotation. How long you take for the preparation? Will also check delivery address and contact and share you later.

Thanks a lot.



#### **VERONIA ZHUANG**

# ASSISTANT ACCOUNT MANAGER TRAVEL RETAIL

 Phone
 +86 2161 711 441

 Mobile
 +86 13928600514

 veronia
 zhuang@hugoboss.com

### **HUGO BOSS China Retail Co. Ltd.**

15/F, Infinitus Tower Room 1501 - 1520, 15th Floor 168 Hubin Road Huang Pu District, 2000021 Shanghai P.R., China

group.hugoboss.com

发件人: katherine.xie@achieve-tech.com.cn <katherine.xie@achieve-tech.com.cn>

发送时间: 2024年8月5日15:59

收件人: Li, Diane < Diane\_Li@hugoboss.com>

抄送: Zhuang, Veronia < Veronia\_Zhuang@hugoboss.com >; Wang, Summer

<Summer Wang@hugoboss.com>

主题: 回复: (BOSS) Re-fit VMP Order - Revised

Dear Diane,

Thank you so much for your patience.

Please check the attached quotation for your reference.

Best Regards,

### **Katherine Xie**

Key Account Manager

Email katherine.xie@achieve-tech.com.cn

Web. www.achieve-tech.com.cn

Floor 3 Building 3 Lane 391, East Yunling Road, Putuo District, Shanghai



发件人: Li, Diane < <u>Diane\_Li@hugoboss.com</u>>

发送时间: 2024年8月1日12:17

收件人: katherine.xie <katherine.xie@achieve-tech.com.cn>

抄送: Zhuang, Veronia < Veronia\_Zhuang@hugoboss.com>; Wang, Summer

<Summer\_Wang@hugoboss.com>

主题: Re: (BOSS) Re-fit VMP Order - Revised

Dear Katherine,

Hope this email finds you well.

Please kindly place the order except **GZ T2.** 

Would be lovely if could send the quotation to Veronia after confirm.

Thanks in advance.

	Signage Quotation										
ВР	Store Name	Product	Size(MM)L*W*H	Picture	Bill of Material	Qua					
	Guangzhou Domestic T1B	A5 Acrylic Stand-Standing	210*148*70mm		Clear Acrylic						
	Guangznou Domestic 118	A5 Acrylic Stand-Flat	210*148*20mm	J	Clear Acrylic						
	Guangzhou Domestic T2	A5 Acrylic Stand-Standing	210*148*70mm		Clear Acrylic						
Feishang		A5 Acrylic Stand-Flat	210*148*20mm		Clear Acrylic						
rollang	Observato Description TO	A5 Acrylic Stand-Standing	210*148*70mm		Clear Acrylic						
	Changsha Domestic T2	A5 Acrylic Stand-Flat	210*148*20mm		Clear Acrylic						
	Fuzhou Domestic T2	A5 Acrylic Stand-Standing	210*148*70mm		Clear Acrylic						
	Shopping Complex	A5 Acrylic Stand-Flat	210*148*20mm		Clear Acrylic						
		Freight Cost (Estimated Pric	e, Price will change acc	ording to distan	ce)						
		NET Cost	(excl. tax, incl. Freight)								

### **Diane Li**

# **Senior VM Executive Visual Merchandising**

+86 2161 711

**Phone** <u>537</u> **Mobile** <u>+86</u>

<u>15900651145</u> diane li@hugoboss.com

### **HUGO BOSS China Retail Co. Ltd.**

15/F, Infinitus Tower Room 1501 - 1520, 15th Floor 168 Hubin Road Huang Pu District, 2000021 Shanghai P.R., China

group.hugoboss.com

From: Zhuang, Veronia < <a href="mailto:Veronia Zhuang@hugoboss.com">Veronia Zhuang@hugoboss.com</a>>

**Sent:** 31 July 2024 14:32